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QUESTION NO: 1

Which two properties can you change in the Database screen of the Configurator? (Choose two.)

A. Table Space File Size

B. Database Server Name

C. Database Port ID

D. Dynamic Table Space Location

Answer: B,C
Explanation:

QUESTION NO: 2

Which two security types are supported for enterprise user accounts? (Choose two.)

A. authenticated users

B. passwords

C. authorized users

D. LDAP-based authenticated password
E. Application Server user credentials

Answer: B,D
Explanation:

QUESTION NO: 3

When must the 'First Pass' advanced rulebase attribute be defined as Required?

A. When conditions must be executed in the context of creating records
B. When a parent record propagates values to a child

C. When the rulebase declares links to relationships

D. When the rulebase creates SoftLink with child records

Answer: B
Explanation:

QUESTION NO: 4
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Which three parameters can be configured for Quick Export? (Choose three.)

A. maximum number of records to be exported
B. the progress bar increment

C. the file extension

D. delivery method

E. the name of the file

Answer: B,C,D
Explanation:

QUESTION NO: 5

Which three actions can you take with subset rules? (Choose three.)

. select records for synchronization with Backend System

. select records when importing data into a repository

. save searches to save the selection criterion for reuse in a record search

. create a list of records for browsing

. change the display of the attribute values (i.e. change to upper case on selected records)
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Answer: A,C,D
Explanation:

QUESTION NO: 6

As part of simple cleansing processes workflow, you want to verify that some attributes are
defined and all attributes are entered in uppercase.

What is the best approach for meeting this requirement?

A. You create a rulebase with two rules: one for checking mandatory attributes and one for
transforming all attributes into uppercase. You call this rulebase in the Mass-Update interface to
apply modifications to a chosen subset of data.

B. You create a rulebase with two rules: one for checking mandatory attributes and one for
transforming all attributes into uppercase. You add an activity in the import workflow, which will call
this rulebase file at the beginning of the process.

C. You pre-process custom functionalities that get the input file, do the check on mandatory
attributes, and put all of them in uppercase before generating a clean file for TIBCO MDM.

D. You ask all source applications to implement the mandatory rules as well as the uppercase
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condition.

Answer: B
Explanation:

QUESTION NO: 7

Which two statements are true about data synchronization? (Choose Two.)

A. Synchronization Formats define the data format required to get data into the repository.
B. Synchronization Profiles allow you to export a subset of data.

C. Data can only be synchronized incrementally.

D. Data can be synchronized out of the system via JMS.

Answer: B,D
Explanation:

QUESTION NO: 8

Which two servers must be running for successful configuration of TIBCO MDM for an Application
Server? (Choose two.)

A. TIBCO Cache Server
B. JMS Server

C. Database Server

D. AS2 Server

E. Webserver

Answer: A,C
Explanation:

QUESTION NO: 9
Which statement is true about data import?
A. It can be initiated through web services.

B. It can be initiated through FileWatcher.
C. It must be initiated through the GUI.
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D. It creates a new version of the record when a duplicate is imported

Answer: A
Explanation:

QUESTION NO: 10

Which three actions are supported in an Initialization Rulebase type? (Choose three.)

A. propagate some attribute values to child records

B. fill up a dropdown from a datasource

C. limit access to attributes/groups of attributes

D. assign default values to the attributes of a new record
E. create a SoftLink

Answer: A,C,D
Explanation:

QUESTION NO: 11

You have made changes to the "allmenu.xml" file to include access to the TIBCO MDM User
Guide Which file must be redeployed to make the User Guide available in the Menu List?

A. ECM.war
B. EML.ear
C. ECM.ear
D. EML.war

Answer: C
Explanation:

QUESTION NO: 12
Which activity allows for running a rule in a workflow?
A. EvaluateSubset

B. InterpretCommand
C. EvaluateRuleBase
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D. IdentifyActionType

Answer: C
Explanation:

QUESTION NO: 13

Click on the two correct index configurations.

<IndexEntity joinTable="false">
<Hame>Persononly</Hame>
<Enterpriselame>TRIBCOC/Enterpriseliame>
<Repository>
<RepositoryName >PERSON</Reposicorylame>
<AttributeLisc>
<Attribute>
A <AttributelName>FHAME</Attributeliame>
</Attribute>
<Attribute>
<hAtcributeName >HAME</Attributelames
</Attribute>
<fAttributelist>
</Repository>
</IndexEntityy

<IndexEntity joinTable="true">
<Hame>Persononly</Name>
<EnterpriseName>TIBOO</Enterpriseians>
<Repository>
<RepositoryName>PERSON</Repositorylame>
<Attributelisty
<Attribute>
<Attributelame>FHAME</Attributelame>
B </Artribute>
<Actribute>
<Attributeliame>LHAME</Attributelame>
</Attribute>
</Attributelist>
</Repository>
</IndexEntityy

<IndexEntity joinTable="true">
<Name>PersonToAddress</Hame>
<EnterpriseName>TTBCO</Enterpriseiame>
<Repository>
<Repositorylame>PERSOMC /Repositorylame>
<Attributeliscy
<Attribute>
<Attributeliame>FHAME</Attributeliane>
</httribute>
<Attribute>
<AttributeName>LHAME</Attributelama>
</Arcribute>
</Attributelist>
<Relationship>
<RelationshipName>PTOA</Relaticnshipiame>
<RelatedRepository>ADDRESS</RelatedRepository>
</Relationship>
</Repository>
<Repository>
<RepositoryName>ADDRESS</RepositoryName>
<Acttribucelisc>
<Avtribute>
<Attributeliame>CITY</Attribucelame>
</Attribute>
<Attribute>
<Attribucelame>COMNTRY</Attribucelame>
</Atcribute>
</Attributelist>
</Repository>
</IndexEntityy

A. Option a
B. Option b
C. Option ¢
D. Option d

Answer: A,C
Explanation:

<IndexEntity joinTable="trus">
<Name>PersonToAddress</Name>
<Enterpriselame>TIBCO</Enterprisellame>
<Repository>
<Repositorylame>PERSON</Repositorylames
<Attributelisc>
<Atrribute>
<Attributeliame >FNAME</Attributelame>
</Attribuce>
<httribute>
<Attributelame >LNAME</AttributeName>
</Attribute>
</AttributeList>
<Relationship>
<RelationshipName>PTOA</RelationshipName>
<RelatedRepository>ADDRESS</RelatedRepository>
</Relationship>
<RepoaitoryName>ADDRESS</RepositoryName>
<Atcributelisc>
<Attribute>
<ArtributeName>CITY</AttributeName>
</Attribute>
<Attribute>
<AttributeName>COUNTRY</AttributeName>
</Attribute>
</AttribuceLlisc>
</Repository>
</IndexEncity>
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QUESTION NO: 14

TIBCO MDM supports which two methods of external system integration? (Choose Two.)

A. Java Messaging Service

B. Java Remote Method Invocation
C. Web Services

D. Enterprise JavaBeans

Answer: B,D
Explanation:

QUESTION NO: 15

Which three statements are true about clustering Application Servers? (Choose three.)

A. All Application Servers in the cluster must have the same JVM version.

B. Each server must have different ports assigned for JNDI registry in the Configurator.

C. Each Application Server should have its own logging setup with a separate logging
configuration.

D. The NODEJD environment variable must be unique for each Application Server instance in the
cluster.

E. The Application Servers and Database Servers must be installed on the same machine.

F. All the Application Servers in the cluster must be connected to different database instances.

Answer: A,C,D
Explanation:

QUESTION NO: 16
There is a repository with related records in the system that contains existing information.

Which three options must be selected on import to keep the existing dataset while updating it in
the fastest possible way? (Choose three.)

A. Incremental

B. Merge Data

C. Split/ Approval Required
D. Split/No Approval

E. Direct Load
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Answer: A,B,E
Explanation:

QUESTION NO: 17

Given the following configuration for TIBCO EMS:

martquest, gueus, cluster, TIBCOCluster. clusterLiaison. clusteredserver, Localhost Server=
tcep://machinel.mydomain. com: 1420, tcp://machinel.mydomain. com: 1425

Which server will TIBCO MDM instances use for failover?

A. the server with the lower traffic volume
B. the server on port 1420 always

C. the server on port 1425 always

D. whichever server is active

Answer: A
Explanation:

QUESTION NO: 18

Which two statements are true about Business Process Rules? (Choose two.)

A. There can only be one template defined for each Business Process Rule.

B. In the Record Edit Approval BPR, the number of approval steps is limited to what is set on the
default screen.

C. The Business Process Rule template consists of a set of conditions and actions that can be
modified.

D. Business Process Rules allow changes to workflows for definition of routing rules and various
routing options

Answer: C,D
Explanation:

QUESTION NO: 19
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There are two repositories: Customer and Address. The Customer record (custl) is related to an
Address record (addl1 but there are multiple errors in both records that are preventing it from being
saved and processed.

At the very least, what must the user do in order for these records to be successfully submitted?

A. Remove the relationship and recreate it

B. Resolve errors only in the Customer record

C. Resolve the errors only in the Address record

D. Resolve errors in both the Customer record and Address record

Answer: D
Explanation:

QUESTION NO: 20

Which three configuration options are available when setting up the text search? (Choose three.)

A. Text Index Setup

B. Enable Text Indexing

C. Set the Text Search Pool size

D. Enable the CUSTOM matcher type

E. Set the correct authorization for the user/role

Answer: A,B,C
Explanation:

QUESTION NO: 21

As part of a real-time notification process, it is required that TIBCO MDM notify an integration
platform with all new record creations.

What is the best approach for meeting this requirement?

A. You make the integration platform request continuously on specific repositories with parameter,
the record version, and creation date.

B. You add an activity into the insert workflow, which will publish the content of the working
document into the integration JMS queue

C. You create a synchronization profile, with incremental option, which uses a subset rule to filter
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